
Compare statements (1)

1 	 Esther has these pennies.

Her mum gives her 2 more pennies.

Jack has 5 pennies.

Who has the most pennies?

 has the most pennies.

2 	 Complete the statements in two ways.

a)  �� 5 + 2 is greater than  	

5 +�  2 is greater than 

b)  � 5 – 2 is greater than  	

5 – � 2 is greater than 



c)  � 6 is greater than  +  	

6 is greater than  + 

d)  � 6 is greater than  –  	

6 is greater than  – 

3 	 Write < , > or = to complete the statements.

	 1 + 0	 	 1

	 1 – 0	 	 1

	 10 – 0	 	 1

	 4 + 3	 	 6

	 8	 	 10 – 1

	 6 – 5	 	 1

	 4	 	 2 + 3
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